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AR A9vr A & v Sraegs dren
Eﬁﬂ@ﬂfﬂﬁa
(A) Ul DI R

_ 100 %100
AT BT I X glel | giel B A

10000

ey gegr= V" ¥7
(B) U1 g H71 97

100*100
gfraal &1 g9=I7

(C) gien &) ¥egl =

(D) Ul B TR

_ 100 %100 % 2
gfeaal &1 g0 X wiel & el $1 I8

qIRe féar T |

(A) 1927
(B) 1980
(C) 1972
(D) 1978

(A) 1965
(B) 1972
(C) 1976
(D) 1980

(3)

Formula of number of plants requirement

for rectangular planting method is :

(A) No. of plants =

100 X100

distance in row X distance between

plant to plant

(B) No. of plants

10000

square of planting distance

(C) No. of plants = 1097109

No.of rows

(D) No. of plants

100 %100 %2

distance of row X distance between

plant to plant

Wildlife Protection Act was passed in the

VLT G :

(A) 1927
(B) 1980
(C) 1972
(D) 1978

Forest Protection Act was passed in the

Year ...oooveveeenne. :

(A) 1965
(B) 1972
(C) 1976
(D) 1980
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4. ﬁts’—fr% SN Pl ded & ¢ 4.  Hedge row intercropping is also called :

(A) Aifyer (Tferamr) v (A) Alley cropping
(B) o wd (B) Ley cropping
(C) EHH TR (C) Multiple cropping
(D) Mi¥a T=m (D) Mixed cropping
5. BN Al & WY U I BN o : 5.  Growing of tree along with agriculture
crop is called :
(A) BN-TRETE vghd (A) Agro-Pastoral system
(B) &fN-aial ygfd (B) Agri-Silviculture system
(C) Te@I-HN Tghd (C) Horto-Agro system
(D) FN-TH@E-TRETE Tgf (D) Agro-Silvo-Pastoral system
6. <A B P : 6. Taungyaisa:
(A) <fed g (A) Latin word
(B) W& < (B) Greek word
(C) i u= (C) Burmese word
(D) 3H! Ies (D) Assamis word
7. T IAM AUG B W JAferd & 7. The home gardening is widely practiced
in:
(A) A=A T H (A) Desert area
(B) @H I9T dTel &7 H (B) Low rainfall area
(C) I qui dTef & H (C) High rainfall area
(D) e & H (D) Temperate area
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10.

11.

[Tl ST=Ier $T1 q&d Seed HT of ?

(A) I GReT

() P fawr
(C) &R fge=u
(D) HFATRIGR

(A) T aTmidT
(B) Wid
(C) UR=Hl wRa

(D) HMR

B TR B forg fomam S 2
(A) T

(B) M

(C) WA Bl I

(D) YT

AT B IR B TN 6T G §
(A) 27r
(B) Trh
(C) mr2n

(D) 27r2n

Ag-1006
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11.

What was the main aim of Chipko

Movement ?

(A) Forest conservation
(B) Agriculture expansion
(C) Erosion control

(D) Human rights

Taungya system was originated in ........... .
(A) South Africa

(B) France

(C) Western India

(D) Myanmar

Windbreak and shelterbelt are used for
reducing ............... :

(A) Temperature

(B) Wind velocity

(C) Crop yield

(D) Precipitation

Formula of calculating volume of a log is :
(A) 27r

(B) Trh

(C) mr2n

(D) 27r2h
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12.

13.

14.

15.

MBI U BT UGB AR US DI Bl
S ¢

(A) I SR

(B) M FaTy

(€) amf &

(D) 3 <

T &AM H, 91 e @ forv SuAN
@I S aTell qdl IS ©
(A) #HR

(B) T Hie®

(C) &9 HIcR

(D) TT

ARV fReIARYT FT FEd ¢ -
(A) T foRefidRoT

(B) ST [dRAHRYT

(C) SfrdmaH faRelidRor
(D) A faReiHRoT

BHIY-TSH-TRME TG FT ISR & :

(A) TRT + Bl + B
(B) WA + US + AN
(C) WU + Bl eI + BRI

(D) US + NI g&T + el g&l

Ag-1006

12.

13.

14.

15.

The product of form factor and total height
of treeis:

(A) Tree height

(B) Form height

(C) Formclass

(D) Form quotient

In forest mensuration, the basic unit used
for tree volume is :

(A) Metre

(B) Square metre

(C) Cubic metre

(D) Cumec

Ordinary thinning is also called :

(A) German thinning

(B) Advanced thinning

(C) Maximum thinning

(D) Free thinning

Example of Agro-Silvo-Pastoral System
IS:

(A) Pasture + Fruit + Crop

(B) Crop + Tree + Fodder

(C) Crop + Fruit Tree + Fodder

(D) Tree + Fodder Tree + Fruit Tree
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16.

17.

18.

19.

TR

(A) BIRA
(B) BRA
(©) wfes
(D) WHIhd

BEET T4 99 9 FHR0 g w/Y Y

(A) 1930

(B) 1935

(C) 1953

(D) 1968

3TedTgd P HaE R I
gl

(A) 500-1000 Hiex

(B) 1000-2000 #HcX

(C) 2000-3500 X

(D) 3500-6000 Hc¥

Ag-1006
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16.

17.

19.

The term ‘forest’ has been derived from

Latin word :

(A) Foris
(B)
(©)

(D)

Forus
Faitin
Focus

Fosberg and Webb forest classification is
based mainly on ................. :

(A) Climate

(B) Evapotranspiration

(C) Vegetation

(D) Temperature and latitude

Champion and Seth forest classification

was given in the year ............... :

(A) 1930
(B) 1935
(C) 1953
(D) 1968

Alpine forest occurs at altitude of

(A) 500-1000 m

(B) 1000-2000 m
©

(D)

2000-3500 m

3500-6000 m
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20. 9FIM &7 qFRYfdd 9H & 20. Botanical name of teak is :

(A) IRAT JIawer (A) Shorea robusta
(B) <aeH Ufew (B) Tectona grandis
(C) cHMferT ermerT (C) Terminalia tomentosa
(D) cTHMfRT Hew (D) Terminalia catappa
21. I BT IHMEiad 9 2 21.  Botanical name of Chirpine is :
(A) TR dATeRITT (A) Pinus wallichiana
(B) URFY SRIfSITHT (B) Pinus gerardiana
(C) UMY IR (C) Pinus roxburghii
(D) g (D) Pinus nigra
22, QU HfegHly HUch gq a9l 22. Tropical thorn forests grow very well in
arer et A g =) e feRid B area receiving rainfall about ............. .
gl
(A) 0-400 fHe. (A) 0-400 mm
(B) 300-500 Al (B) 300-500 mm
(C) 450-1000 fHH. (C) 450-1000 mm
(D) 1000-1500 T, (D) 1000-1500 mm
23, Y- 99 IR 9T § ¢ 23.  Sub-alpine forests are found in :
(A) el &7 o (A) Himalayan
(B) 3UeHH gIu (B) Andaman island
(C) uf¥TH =T H (C) Western Ghat
(D) ORI &7 H (D) Rajasthan region
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24,

25.

26.

fbl 90 H o9 &F I Te IS & 24

g ?

(A) 3FBUTIA Yo
(B) HE YU

(C) oA

(D) BINTE

TS g A,
TRRfSE dged & foy  amawdd

1952

(A) 19.5%
(B) 23.0%
(C) 33.0%

(D) 40.6%

<. U, IR, e, $1 [ TH ¢ - 26.

(A) Tl T AT HRA
(B) T BT a7 SFTEI HRA
(C) S BT IRT SFTHIT AT

(D) THEID! IR &Y AR

Ag-1006 (9)

G2} BN 25.

Which state is having largest area of the

forest cover ?

(A) Arunachal Pradesh

(B) Madhya Pradesh

(C) Rajasthan

(D) Chhattisgarh

According to National Forest Policy, 1952

the minimum forest area required for

ecological balance is ................. .

(A) 19.5%
(B) 23.0%
(C) 33.0%
(D) 40.6%
Full form of TFRI is:

(A) Technical Forest Research Institute

(B) Tropical Forest Research Institute

(C) Tropical Fodder Research Institute

(D) Technical Fodder Regional Institute
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27. WRAE di@! @y SRR frem uReg 27 Indian Council of Forestry Research and

Rerg 2 Education (ICFRE) is located at :
(A) <EIGT H (A) Dehradun
(B) &g H (B) Hyderabad
(C) IR ¥ (C) Jodhpur
(D) AR ¥ (D) Jabalpur
28. @i G AV SEUM WyE Red 28, Central Agroforestry Research Institute
3, (CAFRI) is located at :
(A) TRMER # (A) Hyderabad
(B) VIEYR H (B) Jodhpur
(C) <EvIgd 4 (C) Dehradun
(D) EIRIR:| (D) Jhansi
29. fdeq SmaqfA feas e e & 29. The World Wetland Day is celebrated on :
(A) 2 SR Bl (A) 2nd January
(B) 2 HRAX P (B) 2nd February
(C) 2 9™ &l (C) 2nd March
(D) 2 3V B (D) 2nd April
30. BOI-RI-STCRBIUT I ¥ @& 30. Hedge-row-intercropping is also
ST 2| called ................ :
(A)  TRIRT Wit (A) Alley cropping
(B) dIgHCl Wil (B) Multiple cropping
(C) 3rTHHARITEH (C) Intercropping
(D) fafdra @l (D) Mixed cropping
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31. W Eﬂq M 99 gRT 99 B 6 31. Renewal of a forest crop by means of self

TR T P § sown seeds is called :

(A) UGfTd Joi (A) Natural regeneration
(B) Elg‘%ﬂ EEIGFF[ (B) Artificial regeneration
(C) TdIER Bud (C) Seedling crop

(D) YaeH (D) Propagation

32.  fodl yonfa &1 dio7 Sdred R oxar © 32. Seed production of a species depends

upon :
(A) TS @AY W (A) Age of tree

(B) BIF B AR W (B) Size of crown
(C) Tdg W (C) Climate

(D) SUgad FHI (D) All of the above

33. d/o &7 oFg HEfeiRad amafRe owa 33. The seed germination depends upon the

R PR et following internal factors :

(A) ST DI IRITRIT (A) Permeability to water
(B) U1 @1 famr (B) Development of embryo
(C) 99 @7 MBR UG i & (C) Size of seed and viability
(D) Sugad FI (D) All of the above
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34. HISHRISSI ® 99 Uh Hgeid 34. Mycorrhiza is a symbiotic association

aEad between :
(A) HIB IR JERIRAT (A) Fungi and bacteria
(B) HIP 3R I=d U B el (B) Fungi and roots of higher plants
(C) FFIRAT IR el b Sret (C) Bacteria and plant roots
(D) HaB B! T FoTfcrt (D) Two species of fungi
35, OFTeE TN & I IR 35. The seed of Jaglans regia are mainly
e dispersed by ............... :
(A) BT gRI (A) wind
(B) UMl gNI (B) water
©) WI’CWUT FIN (C) gravity
(D) fufsdl gr (D) birds

36. fmfifed § & @F fIWR OMR) aifyar 36 Which of the following is not related to

3 TRy T8 L 0 extension forestry ?

(A) od W3 GERoT (A) Plantation of railway line
(B) Wd H US M (B) Raising tree on farm land
(C) &I & b R (C) Canal bank plantation
(D) i arfya (D) Industrial forestry
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37. GAMROT ARG g I RED 37. Forest cover increases local precipitation

w%l Upto ................. .
(A) 0-5 Yfcrerd (A) 0-5%
(B) 5-10 Ufcrerd (B) 5-10%
(C) 15-20 Ufcrerd (C) 15-20%
(D) 20-25 Wfcrerd (D) 20-25%
38. T8 9 Ue T @ fafy 81 2 - 38.  Which is not a method of weeding ?
(A) SRRV fafdr (A) Ordinary method
(B) YNNI fafgr (B) Chemical method
(C) =% fafr (C) Mechanical method
(D) Sifds fafy (D) Biological method
39. Ugd gRaEred H Aflerd g : 39. Tending operation consists of :
(A)  faReldRT (A) Thinning
(B) Il Belg (B) Creepers cutting
©) ‘5‘6@ (C) Pruning
(D) Sugad F4I (D) All of the above
40. FRGIG 9Pl T foru 40. Recreational forestry is beneficial for
AERS %l the oo, .
(A) Efzﬁl‘cﬁ (A) Farmers
(B) THIOT AT (B) Rural people
(C) & @ (C) Urban people
(D) dsfvia (D) Scientists

Ag-1006 (13) Set-D



41, QARG Wl T TSI oy 3 99T 41. Shifting cultivation in Odisha and Andhra

¥ PEd § Pradesh is called :
(A) Elg?ﬂ'@[ (A)  Kumari

(B) U (B) Podu

(C) =@ (C) Jhum

(D) Sugad FI (D) All of the above

42. ARUM &7 9 b9 Us @ Yofd o U 42. Turpentine oil is obtained from which tree

BT & 2 species ?

(A) TN IRISRETS (A) Pinus roxburghii
(B) <gfcar AT (B) Butea monosperma
(C) U SRIfSIT (C) Pinus gerardiana
(D) HTIHferaT fo=reT (D) Kigelia pinnata

43. U @ s AUA b fow IR-IfS 43. Non-instrumental method of height

Afr s measurement of a tree is :
(A) B fafy (A) Shadow method
(B) fewmIex (B) Hypsometer

(C) & fafy (C) Tangent method
(D) T W (D) Sine law
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44. I TR BT GIET a9 P ﬁ«l'q 44, Abney’s level is used for measuring

(A) Fe R (A) Growth rate
(B) 98 &I AAA (B) Volume of tree
(C) 3& &I Hdg (C) Plant height
(D) B @I ACTE (D) Bark depth

45, q\zﬁf%rw NG H 8] e | 45. Eucalyptus foreign species well grown in

ST W e R R @ India is native to ............... .
(A) SR (A) America
(B) 3ifesfera (B) Australia
(C) riel (C) Brazil
(D) AR (D) Myanmar
46. TS US $ A Pl §RT ®WUT &1 46, Diameter of a tree can be measured
N YA .
(A) BT 3fecHIey (A) Haga altimeter
(B) 3f&HI o (B) Abney’s level
(C) [fderIex (C) Clinometer
(D) TRl dellud (D) Flurry callipers
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47. I P I[P IUE © 47.  Tangible products of the forests are :

(A) TR BT (A) Timber
(B) B (B) Bark
C) wd (C) Flower
(D) SWa &l (D) All of the above

48. TSI 99 T P ogg o ERRCEIIE] 48. National Forest Policy was revised in the

fopar wram o | Vear ..., .
(A) 1980 (A) 1980
(B) 1988 (B) 1988
(C) 1984 (C) 1984
(D) 2004 (D) 2004
49. {499 F=Ioiig UToll e FHRIT Il @ 49. The World Wildlife Week is celebrated
from :
(A) 1-7 5T (A) 1-7 June
(B) 1-7 Ria=x (B) 1-7 September
(C) 1-7 AdgNR (C) 1-7 October
(D) 1-7 da%R (D) 1-7 November

50. UL & AW U 6l Bl Yo fha 50. Seed dispersal through animals occurs in

gy ¥ BT R ? species of :

(A) Sagforr R (A) Dalbergia sissoo
(B) WM SelwalxT (B) Prosopis juliflora
(C) WIZPH TeIHXCI (C) Ficus glomerata

(D) TR X (D) Jaglans regia
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51. % US & H 1 dl Bgl Wl @ - 51. The main stem of a tree is called :

(A) dIe (%) (A) Bole
(B) ©cal (B) Log
(C) el @I ds (C) Raft
(D) o (D) Trunk

52, WH SO W 2 ¥ 4 39 AN Il B¢ 52. A small tree usually between 2-4 inches

IS Pl PEd B diameter at breast height is called :
(A) fasiren (A) Seedling

(B) drefg& (B) Sapling

(C) 3rmeoIfed dler (C) Suppressed plant

(D) Suga H A Bl 7Tl (D) None of the above

53. ddel @ U B ofs § Ndho drel WRIg 53.  Suckers arising from the root of a woody

vy plant are termed as :
(A) Td WIE (A) Root suckers
G IGEERH (B) Wood suckers
(C) T RIE (C) Stem suckers
(D) TVNUfI® WRIE (D) Vegetative suckers

Ag-1006 (17) Set-D



54. BIRT Hell0d B JIRT T HO 54. Fomme’s calipers is used for measuring
frofPr sy 000 e .

(A) AFS! BT AR (A)  Volume of wood
(B) ﬁ‘s’ CARCIIES] (B) Diameter of tree
(C) US &I Hdg (C) Height of tree
(D) B @I A (D) Bark depth
55. favg Wafafaear feaq a9mnr o © 55.  World Biodiversity Day is celebrated on :
(A) 22 W1 B (A) 22 March
(B) 22 A B (B) 22 April
(C) 22 T @I (C) 22 May
(D) 22 ey I (D) 22July
56. 9Rd H WH $d18 URE G 56. In India diameter of breast height is
W A o 2 measured at the height of :
(A) 1.30 HicX (A) 1.30 metre
(B) 1.37 HicxX (B) 1.37 metre
(C) 147 ¥icxX (C) 1.47 metre
(D) 157 HieX (D) 1.57 metre
57. 9gSeYy 98T B4 od @ 57.  Multipurpose trees give us :
(A) 4N T IR (A) Food and Fodder
(B) W Yerf Td Bl (B) Food and Fruits
(C) NI USH, 9RT U4 389 odds! (C) Food, Fodder and Fuel Wood
(D) Wi qETQi, IRI, el UG s‘em (D) Food, Fodder, Fruits and Fuel Wood
REX]]

Ag-1006 (18) oot



58.

59.

60.

Yaed @l 9 WA (R o) Ay
ARHR b geT yonfodl  JJuATg
g ?

(A) o aREfT

(B) <aeHT Ufew

(C) dMfEfar aRwer

(D) THISelverd SHIa]

BIh b GH WR & B drel el Sl
W Y QO g BRI 4 37 Y ura

FR &, DA & :

(A) el g3 B4

(B) W39 B

(C) WE-Ugd BF

(D) <RI B3
Fefofad 4 Ug @1 Sarg A9 @ fou
T% JUGR T 8 -

(A) fewmeR

(B) faemMIeR

(©) feAr vl

(D) 3F&HI ot

Ag-1006
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58.

59.

60.

Air layering method of propagation is

mostly adopted in the species of :

(A) Litchi chinensis
(B)
(©)

(D)

Tectona grandis
Bauhinia variegata

Phyllanthus emblica

Trees with crowns extending above the
general level of the crown canopy and
receiving full light from above and partly

from the sides are called :
(A) Open crown
(B) Dominant crown
©

Co-dominant crown

(D) Overtopped

The following is not an instrument for

measuring tree height :

(A) Hypsometer

(B) Clinometer
Biltmore stick

(©)

(D) Abney’s level

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &RM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok a2l Heger

B o ST 9T SHBT SN AT Iioid 2 |

T & faval U9 3o SurRer § =TT 8 @l
T H YT BT U WUARYT & A B |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
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